

 w ¤ � ' f Õ w �Aw	

� 2019 ó 2020 ft , � f� 	

í§÷ f÷ Ó


þ�
ð MG26018 ÿ�ú!��� �é

è��y

1 �Õöô�6:00 PM – 8:20 PM�

2 qA��á� 100 ���-�pf&÷�°÷	��õGuÎþö
��I�

3 (-��ñ��(�î�¹�z}�\T�

4 ,!�Õ:�w�Õ�A¸&�P�:�þö�\��K��°�¡�h��

w�

5 �(*ÏA¸�P�Ê5P¾���*ÏA¸p¨�¤�� �iÁ�sÆ:\


�\
L:��
¥óf!���

6 �Õ�Ë 30 ����åÊ�ÕÓ_M 30 ����
�¤w�

������úúú���������%%%<<<uuu������ÕÕÕªªª���������úúúººº���

A w ; 10 u , 1 u



– du:z}u –

A w ; 10 u , 2 u



,,,������ [4 �]

:ã³�Eî���ìÏ8�:�v�ûßúËpf!�����e���G¾�£H

å!���ïå�ÇpfåwB�ã�ã����e���G¾�£Hå!���êý

�Ç��p<¹Õ���ÐLÿ�	eB�p<ã�÷�ðÙ${!��ê��¹�:

¹�

,,,������ [5 �]

Weibull (α, β) �����Æ¦ýp�pdf	: f(x) = αβ−αxα−1e−(x/β)
α
, x > 0, α >

0, β > 0�÷�(ÍØb�/�inverse-transform technique	��
ÎWeibull (1/2, 1/4)

����:ØÏ��(�:p 0.8147�0.9058�0.1270�0.9134e§� 4*ÂK< (ran-

dom variates)��ÝY 4 M�p�	
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Event Calendar

Clock System State Next Arrival Next Departure

Server 1 Server 2

0 0 0 + 2 = 2 ∞ ∞
2 1 2 + 1.5 = 3.5 2 + 3 = 5 ∞
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:å�	Í��!��+Bã L, W , LQ, WQ:

�1	M/M/1�λ = 0.6�µ = 1� [2 �]

�2	M/M/2�λ = 0.6�µ = 0.5����1	øÔ���*ë�
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�3	M/G/1�λ = 0.6�
¡öô
Î Uniform [0, 2]����1	øÔ�
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�9Ø��FG<¡Ø�è��� X ∼ Uniform[a, b]�Var(X) = (b−a)2
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òå f(x)�0 ≤ x ≤ 1�/�:ØÏ X ���Æ¦ýp�pdf	���þ@:�G¾�ì

åS f(x) �wSh¾��°(�ìó(4q@:��ô:ß-G���:0Ç¹�G

¾�ìÐLýp Unif(a,b) sï�� [a, b] KôG�����:7,�

Acceptance-rejection method

AR for densities with a bounded support

I The target density f (x) has support [a
,
b] and is upper bounded by M

x

I Simulate (Y ,U ) ∼ Unif{(y, u) : a ≤ y ≤ b, 0 ≤ u ≤ M}
I Accept the pair if 0 < U < f (Y ) and let X be the accepted value of Y

13 / 26

a

0

f (x)

1

�1	���ìòÏåS�U�� X ��:7,�Ô��Ï!ÐL�! RANDX() ýp�
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G¾ x1, x2, . . . , xn /eêc��� N (µ, σ2) �ìË���7,¹�(�'<60¡

�MLE	¹Õe0¡ µ � σ2���úwS�¨üe¤�è�%Æ'�	

A w ; 10 u , 8 u
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�ì	 k > 2*ûß¾¡�v��'ý���mean performance	: θi, i = 1, 2, . . . , k�

°(��Î-	ú θi�'�£*�þö 8-� Bechhofer’s Procedure�, 16u	�ïå

ÝÁ�SG¾ 1-4�Áþö 8, 15u	ýá³�ö�� P{select the larget θi} ≥ 1−α�
��Á�÷Áþö 8 , 17-18 u�°(�ìÖ�G¾ 3�÷Ùú%<�pf���	Á

��SG¾ 1�2�4 á³�ö��

P
{∣∣∣selected θi − max

1≤i≤k
θi

∣∣∣ < δ
}
≥ 1− α.

A w ; 10 u , 9 u
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G¾�ìÐL�*3��ÿ��(�!ÐL-�!6Æ0»c�ú Y1, Y2, . . . , Yn�G¾
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1

n−1
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i=1(Yi− Ȳ )2�6�( Ȳ ± tn−1,1−α/2 S√
n
\:å3�'ý��� 1−αná:ô�

�1	:ÀHÙ7/���÷�ð�à� [4 �]

�2	G¾ Y1, Y2, . . . , Yn /���F/cøs�÷:���$*Ó�ÙúÁ��E[S2] <

Var(Y1)�E[S2/n] < Var(Ȳ )� [10 �]

�3	ù��2	-�Åb���( Ȳ ± tn−1,1−α/2 S√
n
\ná:ô���/ÀH�[2 �]
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